NAME DATE 02/16/21 PERIOD
AMI Lesson 1

[~

Find (f + g)x), (f — g)x), (f - g)x), and ( .)(.1;) for each flx) and gix).

o3

Ly =8 =B gl =4 + 5 2, fix)= 3x® —x + Bigix) =22 -3

(f + 2)a)

(f + g)x)

(f- @)xa) = (-

For the set of ordered pairs, find fe g and g o fif they exist.
3. f=Ub,—2),(9,8),(—4, 3), (0, 4}],
g=1{3.7), (=2, 6), (4, =2}, (8, 10}}

feg =



Find [fo gltxv) and [g o fla).
4. fixi=08Bx + 4;plx) =3 —x

[feglx) =

lg o fllxv) =

Find the inverse of each function, Then graph the function and its inverse,
D.flx) =2x — 3

m

Determine whether each pair of functions are inverse functions,
6. flay=2x+ 5

pla) =5y + 2

T, flx) = v +

olay =4x — 20
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Simplify. Assume that no variable equals 0.

@ > i)s
led.eo4.eb 2 Balll
ha

Express each number in seientific notation. )
4, 385,000,000 5. 0.00005:

r
v

3

Evaluate. Express the result in scientific notation.

6. (3.2 X 10°)(5x10% 7 Liz2xi07!
1.6 x10%
Simplify,

8 (7x? —6x+3)— (4x* +8x—3) 9. (—4m? — 6m) — (4m + 5m?)

Find each product.

10. (5x—3)(3x—6) 11. 2(a—3)(4a+7)

- Simplify,
2 2
12. 12¢+32¢

4c 18, B3x?—-7x—-6)+(x-3)

3. (ahH®



Factor completely. If the polynomial is not factorable, write prime.

14. t*—16

15. 49d°® — 25

Given a polynomial and one of its factors, find the remaining factors of the
polynomial. Some factors may not be binomials,

. 3 w2, : Ty = y g oy
16, a7 = 16x° = Tlx + 105, 0 = 7 1T x0 - Tx? — 2Wx + T2x ~ 4

<

Descartes’ Rule of Signs

If Pix)is a polynomial with real coefiicients whose terms are arranged in descending powers of the variable,
« the number of positive real zeres of ¥ = P{x} is the same as the number of changes i

sign of the coefiicients of tha terms, or s less than this by an even number. and
+ the number of negative real zeros of ¥ = P{x) is the same as the number of changes in

sign of the coefficients of the terms of P{—x}, or is less than this number by an even number.

State the number of positive real zeros, negative real zeros, and imaginary zeros for each function,
and List all of the possible rational zeros of each function.

18. flx)=x> +4x*—5x+6 19, f(x) =25 —5x* + 3% + 4x— 6
fl-x) = fl-x) =
+r.z2. = +r.z. =
—1‘.21 = —1.Z. =
iz, = 1.z, =
P. P.
q’ q
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Simplify. Assume that no variable equals ().
Lefoet.cf 2. 20
b )

Express each number in seientific notation.
4, 385,000,000 : 5. 0.000052

Evaluate. Express the result in scientific notation,

6. (3.2 X 105)(5 X 10%) ‘ 7 1i2xi0”t
1.6 x10*
Simplify.
8 (7x2—6x+3)—(4x* +8x—3) 9. (—4m? — 6m) — (dm+ 5m?)

Find each product,.

10. (5x—3)(3x—6) 11. 2(a—3)(4a+7)

Simplify.
o 12¢3432¢2
12, 22& T9s¢

4c 12, (3x2—-7x—-6)+(x—3)

3. (ah®



Factor completely. If the polynomial is not factorable, write prime.

14, t*—16 ‘ 15. 49d° — 25

Given a polynomial and one of its factors, find the remaining factors of the
polynomial, Some factors may not be binomials.

16. 2% =152 < Tle + 105;0 = 7 17, 2% — a2 — 26x + 72 x + 4

If P{x)is a polynomiat with real coefiicients whose terms are arranged in descending powers of the variable.

Descartes’ Rule of Signs sign of the coefficients of the terms, or Is Jess than this by an even number, and
» the number of negalive real zeros of ¥ = P{x) is the same as the number of changes in
sign of the caefficients of the terms of P{—x}, o is less than this number by an even number.

State the number of positive real zeros, negative real zeros, and imaginary zeros for each function,
and List all of the possible rational zeros of each function.

18. f(x)=x% +4x*—5x+6 19. f(x) =x° —5x*+3x* +4x—6
fl-x) = fl-x) =
+rz. = +r.z. =
—1.Z2. = —I.Z. =
iz. = iz, =
E:
q
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Simplify. Assume that no variable equals 0.

; i ; &S o 48
.e®.p 4 ‘(,f:- 2‘?:_._’ 8. l(li}(j

Express each number in seientific notation.
4, 385,000,000 5. 0.00005:

Cr
3]

Evaluate. Express the result in scientific notation.

6. (3.2 X 10°)(5 x 10%) 7 lizxio”?
1.6 x10*
Simplify.
8 (7x> —6x+3)— (4x* +8x—3) 9. (—4m? — 6m) — (4dm+ 5m?)

Find each product.

10. (5x—3)(3x —6) 11. 2(a—3)(4a+7)

Simplify.
12, 12¢3+32¢? :
4c 18, Bx?—7x—-6)+(x-3)



Factor completely., If the polynomial is not factorable, write prime.

14, t*—16

15, 49d°% — 25

Given a polynomial and one of its factors, find the remaining factors of the

polynomial. Some factors may not be hinomials.
16, x% + 16% + Tle + 1050 + 7 '

“

17, 2% = T2 — 2620 + T4 v + 4

Descartes’ Rule of Signs

If P{x) is a polynomial with real coefiicients whose terms are arranged in descending powers of the variable.
» the number of positive real zeros of y = P{x} is the same as the number of changes in

sign of the coefficiants of the terns, or is less than this by an even number, and
» the number of negative real zeros of ¥ = P{X) is the same as the number of changes in

sign of the coefficients of ihe terms of P{—x}, or is less than this number by an even number.

- State the number of positive real zeros, negative real zeros, and imaginary zeros for each function,
and List all of the possible rational zeros of each function.

18, f(x)=x> +4x? —5x+6 10, f(x) =x° —5x*+3x°+4x—6
fl-x) = fli-x) =
+rz. = +r.z. =
=& = —I.Z. =
iz. = iz. =
P.
q

fallynl
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Simplify. Assume that no variable equals 0.

Leb.od. o8 9 b~ 3. (a*®

Express each number in scientific notation.
4, 385,000,000 5. 0.000052

Evaluate. Express the result in scientific notation.

6. (3.2 X 10°)(5 x 10%) 7 112x107!
1.6 x10*
Simplify.
8 (7x>—6x+3)— (4x?+8x—3) 9. (—4m? — 6m) — (4m+ 5m?)

Find each product.

10. (5x—3)(3x — 6) 11. 2(a—3)(4a+7)

Simplify.
12. 12¢3+32¢2
dc 18, Bx?—7x—-6)+(x—-3)



Factor completely. If the polynomial is not factorable, write prime.

14. t*—16 15, 49d% — 25

Given a polynomial and one of its factors, find the remaining factors of the
polynomial, Some factors may not be binomials,

16, % + 1532 = T1x + 105;x = 7 17, 2 = Ta2 — 260 + T x - 4

If P(x)is a polynomial with real coefficients whose terms are arranged in descending powers of the variable,

« the number of positive real zeros of y = P(x)} is the same as the number of changes in

Descartes’ Rule of Signs sign of the coefficients of tha terms. o is less than this by an even number, and
 the number of negative real zeros of ¥ = P{x) is the same as the number of changes in
sign of the cosfficients of the terms of P{—x}, or is less than this number by an even number.

State the number of positive real zeros, negative real zeros, and imaginary zeros for each function,
and List all of the possible rational zeros of each function.

18, F()=x®+4x* —5x+6 19. f(x) =x°—5x*+3x2+4x—6

fl-x) = fl-x) =
+r.z. = +1.7. =
—IZ = —1.Z. =
iz. = iz. =
b,
q

Ralls}
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Simplify. Assume that no variable equals 0.

8. -4 . .6 5, b8
lL.e®-e0 % 0" 2. =
b

Express each number in scientific notation.
4, 355,000,000 5. 0.000052

Evaluate. Express the result in scientific notation,

8. (3.2 X 10°)(5 x 10%) 7 1i12x107!
1.6 X10*
Simplify.
8 (7x*—6x+3)— (4x? +8x—3) 9. (—4m? — 6m) — (4m + 5m?)

Find each product.

10. (5x—3)(3x—6) 11. 2(a—3)(4a+7)'

Simplify.
19, 12c3+32¢?

4c 12 3x2—-7x—-6)+(x—3)

PERIOD

3. ah®



Factor completely. If the polynomial is not factorable, write prime.

14. t*—16

15. 49d°% — 25

Given a polynomial and one of its factors, find the remaining factors of the
polynomial. Some factors may not be binomials,

30 Eand i ;i - : : - e D) Y 2
16. % + 152% + Tlx + 105;x + 7 17 2% — Ta® — 262 + T2;x + 4

Descartes’ Rule of Signs

If Pix)is a polynomial with real coefiicients whose terms are arranged in descending powers of the variable,
« the number of positive real zeros of ¥ = P(x} is the same as the number of changes in

sign of the cosfiicients of tha terms, or s Jess than this by an even number, and

the number of negative real zeros of ¥ = P{X) is the same as the number of changes in

sign of the coefficients of the terms of P{—x}, or is less than this number by an even number.

.

State the number of positive real zeros, negative real zeros, and imaginary zeros for each function,
and List all of the possible rational zeros of each function.

18, fx)=x%+4x?—5x+6 19, f(x) =x° —5x*+ 3x* + 4x—6
fl-x) = fl-x) =
+r.zo= +r.z. =
—1.Z. = —1.Z. =
iz, = iz. =
P, 4
q q
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For Exercise 1, complete parts a-c for the quadratic function,

a. Find the y-intercept, the equation of the axis of symmetry, and the r-coordinate of the vertex.
b. Make a table of values that includes the vertex,

c. Use this information to graph the function. T

1. flay = X2 —6x + 8

Determine whether each function has a maximum or minimum value, and find the
maximum or minimum value, Then state the domain and range of the function.

2 fl)=x2+ 2 + 15 3. flay=—222 + dx — 3

Solve each equation by factoring, } )
4, 22-9x =0 5. x2—-8x—-10=0

Write a quadratic equation with the given roots. Write the equation in standard form,

— —R -~ 1 >
.6- B 2. o} ) 8 ) : 7 — _'3



Simplify.

8. V99

10, 110 — 441 — (7 + 30

Solve each equation.
12. 322 +3=0

9, I-l'a‘ ]

11. (3 = 4iX3 — 46)

13.

&

22 4+ 125 =0

Solve each equation by using the Square Root Property.

14, 22 + 20x + 100 = 64

Solve each equation by completing the sguare,
9
16, x*—4dx - 13 =20

15. G2 — 12y + 4 =4

17 22+ 3¢ -6 =0

Solve each equation by using the Quadratic Formula.,

18, a2+ 3x +6=0

19, %2 +0x-2=0
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Solve each system of equations by graphing.
2. 2x-2y =0

].I "Y i 3}‘ = {5
21‘ = 2}‘ = 4 ¥ = 2_-\_’ et :2
Q X O ¥

Graph each system of equations and describe it as consistent and
independent, consistent and dependent, or inconsistent,

B s = 5 o B

2y + V= =y




i ]

SPORTS For Exercises 5 and 6, use the following information.

Last year the volleyball team paid $4 per pair for socks and $12 per
pair for shoits on a total purchase of $232. This year they spent $ 260
to buy the same number of pairs of socks and shoits hecause the
socks now cost $5 a pair and the shorts cost $13.

Write a system of two equations that represents the number of pairs of socks
and shorts bought each vear.

How many pairs of socks and shorts did the team buy each yvear?

FITNESS TRAINING Carly is training for a triathlon. In her training routine each

week, she runs 6 times as far as she swims, and she bikes 4 times as far as she runs.
One week she trained a total of 248 miles. How far did she run that week?



